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1km? = 100 ha = 10000a
7.2km? = 720 ha = 72000a
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5.6 ha = 56000 m? < 550000 cm?
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(8 +14) x 9 + 2 = 99(m?)
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1000kg = 1t

12400000 g = 12400 kg = 12.4t
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1kg = 1000g, 1t = 1000kg
2.9kg = 2.9 x 1000 = 2900 g
4.5t = 4.5 x 1000 = 4500 kg
[ ]otell B2 5o g

2900 4 4500 = 7400 Y t}.
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1t = 1000kg = 1000000 g
3.8t = 3800 kg = 3800000 g
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1.2t = 1200 kg
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0.6t O 6000kg

> E

> Heh: <

0.6t = 600 kg
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21003 9] A 1 20 x 100 = 2000( kg) = 2(t)
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® 4m =400 cm @ 70000 cm? = 7Tm?
@12 m2 = 12000 cm? @ 480000 cm?2 = 48 m?2

® 630000 cm? = 63m?

® 12m? = 120000 cm?
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380000a O 38 km?
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38km? = 3800 ha = 380000a YTt
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11.9 t

1t = 1000 kg
3500 kg + 2000 kg + 6400 kg = 11900kg = 11.9¢




» = kg

> HE D 15100kg
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2600 kg + 8200 kg + 4300 kg = 15100kg = 15.1t
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5.6t = 5600 kg
5600 + 40 = 140(71)




